Fgeamgeye godmpes
(30gnemo =12x2,5¢9em0 )

6 o 3 3 I o
(85009350 30 930bmdo 3oL od 3086gLdo 1,
domgdoh 3o §3mbmBolbhgdelomgals 1)

3md3om, 360336b0@360 U b03603@ob 60033 d33b08603@33600 A o B. 030l ob,
n(U)=350, n(A)=140 , n(B)=230 , n(AUB)=290 . 03mgqo> n(A\B) o6 N(ANB) .
a) b) ) d)

o) b06303o 306300’0@0 mésgo/o, 30633@0@ 20%-o0m, 38mo/ogqa 10%-000. 603@360
3(4)003860000 36@0 303(306@3[} dobio Qoégbn@gba, &HmI 030b0 803@00@@3[}
0300030639em bodbymb.

a) b) ) d)
ob

d) BémQUd@o Bbam%ob@o mésgé), 306’33@‘)@ 12%-o00, booqmo 88006)3Q 13%-00. 6o
qmé@o 360’;@3{1@0, Y obq)o dobio Qoéabu@gbo agoq)aasb 18757 @oéb.

a) b) c) d)
03033300 (—1;2) o (3;4) 686(1)0@8688 603030@0 560301) 2x—3y+5=0 Géggbmos
3000339900l Bghomo.

a) b) c) d)

o) Immbmgbol ggnbgzooo P=-3Q+75, beaemm doBmcogdels ognbgzovs P=2Q+60
03390 BmbolBm&™mal a3obo .

a) b) c) d)
ob
8) 8cmabmgbol a336di3000 P=-0,05Q+120. &0 LB 36330 033 o> Immbmghs (a3bo).
a) b) c) d)
o) 03mggo P+ A,
a) b) c) d)
ob
d) (a+b)6 -b 603@030 6o odsgbo a'b? 5336)0[) 3000030808660.
a) b) <) d)

o) 30000500360[) %UGdBooo 2P +5Q =300 , 603@860 86)0083@000 333806)@380 3000050)360,
oy ogobo 80086)@380 15 360033@000.
ob
d) 30500@880[) %Usdeooo 4P -3Q =500, 608@860 86)0083@000 80036)@360 800600@360,
oY o30l)o 80036@360 12 36)0033@000?

03003300 C=aA+ pB’ 30(i)t4>oeob U@oq)gbo o '33(306)3[)0 3@3836@360[) bb3ooo?mb
b, QO B=|bij|2X3, a o B dmgmmo Go3bggood)

(§°30b) dmcoyemo, oy A=|aij

03003800 |X1X2| ob |X1+X2| , Y X; O X, 6ol 383Q880 806@00@350[) %3b3860



10.

11.

12.

-2 1 3
4x 5 1|=2
3 7 -X
030')3300 C=AB 3006080b 3@33350350[} 3080, oy A= [aij J2X3 ©> B= |_bij J3><2

(o6 A= I:a"l ]3><2 @2 B= I:bil' }2x2 )
dmobmgbol g31bgz000 P=-4Q+90, beaemm 8oBmcegdel ognbgizos - P=3Q+20.

8000360)603 Qoaggbo 30@0[}0[)0@0 36m@ndeoob ym39em 304ooyem 36003‘3@83.
030’)3300 QOGSBSEU@O bgaoéob b(a@oq)a, Y obo@o BembolBm&mdal o30boo 46

MO0 (96 5boemo BrbolBmEmdol Locoocoge 8).
03cmgger kAL AT, o0g A=(a;), .(k=m|A4], k o> m Borgamo Grogbggdos).
a) b) c) d)
3X, +2X, =4
03mggo X, (96 X,, 06 X;), ooy X —3X, +X; =0.

4% — X, = X3 =3

a) b) c) d)



